HAARRIEY o =T T IR
AR—=I T 2T TR T

JevE AL R
O/h#1 - 29 1#1 S PNEIL
N AESR
Doy — T =ANT =
Btttz MR IR [k /] a— R4
B2— &
58 | [k /] 2 H— |k Hi S 316m
HEs B [k /] T 4=y a s 162m
ks e d=bry A e [k /] R A 154m
a—2RE E3EE/NUN [k "] LR 500m
A K — N3 KE B [k /] B REHE 449%
e/ NVEHE 9%
PRV HEfE AR [k /] SESIRLEE 33%
a— 2ty H— E3E /NN [k /]
AiE#E - A - N =2byh- WK #EE (BRG]
AiE#H - B - WA [k /]
AiE#H - C - R Ak [k /]
AiE#H - D - EH o fERE [k /]
AiE#H - F - W kA [k /]
HEF 2K 22(21) 2K — N 10:00
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A — N7 4=y RIR -9.7C / -5.9C
F=890
N7 Ap=b -b mEE R L=
No No K4 B 4 RA B
1 1 00001 R o+ & BRI BEAF-AR =R ] 48.41 0.00
2 2 32982 R B Sl BRI BEAF-AR =R ] 49.51 20.22
DID NOT START 0
DID NOT FINISH 0
DISQUALIFIED 0
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No No K4 B 4 RA B
1 13 32346 {EpE S PLEY S iR AR DA 46.77 0.00
2 12 32424 HERE KB 1B BRI A%~ AR 49.85 58.61
311 32443 TLTjE &K B ByERAF— AR 50.64 73.64
4 16 32998 F MW fEE ESlls SEMRY 2T TN VAR~ AR 5412 139.87
5 14 00002 MAJR W& WA A~ DA [ 54.81 153.00
6 15 32903  BRFE  BGIK PLEY S BRI JrTIA" Y 1:04.16 330.92
DID NOT START 0
DID NOT FINISH 0
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A — N7 4=y RIR -9.7C / -5.9C
F=890
N7 Ap=b -b mEE R L=
No No K4 B 4 RA B
1 21 32106 i MkIEE RS YRSV INIEVY 43.85 0.00
2 23 31970 ®iIM  FEES E[a2) BRNES %A =)/ AE 44.81 19.48
3 24 32544 gk A P S TEERJrT VA" Y 4498  22.94
4 22 00003 EHN K TR &R -V DA 46.96 63.12
5 25 33000 JEK  BKEH z=321]] BRI BEAF-AR =R ] 58.16 290.44
DID NOT START 0
DID NOT FINISH 0
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AiE#H - D - EH o fERE [k "]
AiE#H - F - W kA [k "]
TR %L 22(21) A K — R 10:09
PR3 <HY HH STAT A
A — N7 4=y RIR -9.7C / -5.9C
F=890
JIEAE Ap—h -b mEE Bg M r—x
No No K4 B 4 RA B
1 33 00004 [LIF #9 =) AL L JAR 43.03 0.00
2 35 32894 i B A& WA~V A [ 43.80 15.93
3 34 32650 BRI Ehfh PLEL S BRI JrTIA" Y 44.92 39.09
4 32 32896 iR BEBRE TR &2 -V DA 47.10 84.18
5 31 32040 @) ‘AT W& WA AR~ DA 49.08 125.13
DID NOT START 0
DID NOT FINISH 0
DISQUALIFTED 0
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AiE#H - D - EH o fERE [k "]
AiE#H - F - W kA [k "]
HEF 2K 22(21) 2K — N 10:14
PR3 <H EH STAT A
A — N7 4=y RIR -9.7C / -5.9C
F=890
JIEAE Ap—h -b mEE Bg M r—x
No No K4 B 4 RA B
1 43 00005 REWF FHif 5 76k H5 S TS 40.54 0.00
2 41 31737 B KH Sl BRI BEAF-AR =R ] 42.99 53.79
3 45 31410 /NE  FHEFE ESl AL L JAR 44.23 81.01
4 42 31964 WA B Kzg SENRY 2T TN Y AF— D AE 46.18 123.82
5 44 00006 #ATH  Fi+ E7) SREFT VA"V AF=AR =/ DA 52.75 268.05
DID NOT START 0
DID NOT FINISH 0
DISQUALIFTED 0
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PR3 <HY HH STAT A
A — N7 4=y RIR -9.7C / -5.9C
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JIEAE Ap—h -b mEE Bg M r—x
No No K4 B 4 RA B
1 55 31460 THE  HNAT L7 BRI BEAF-AR =R ] 41.31 0.00
2 51 00007 1L ik P S BRI JrTIA" Y 41.75 9.48
3 57 00009 JEH FAE LY S BRI JrTIA" Y 43.73 52.14
4 56 31494 KR &K IR AL FLJAR 44.56 70.02
5 52 31667 AR KSR IR UREPTIA" /AF=AK =Y/ AR 44.62 71.31
6 53 00008 FnH HIE FHE B AR =YD AR H] 45.00 79.50
7 54 32636 fHE &= 5 76k H5 S TS 48.45 153.83
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PR3 <H EH STAT A
A — N7 4=y RIR -9.7C / -5.9C
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JIEAE Ap—h -b mEE Bg M r—x
No No K4 B 4 RA B
1 61 31557 )l HkEE W& WA AR~ DA 40.26 0.00
2 64 31735 JIIN BHE W& WA~V ] 42.06 39.79
3 62 31605 SEH B Kz by s s el 42.33 45.76
4 63 31726 AR ZZ A W& WA A~ DA [ 42.52 49.96
DID NOT START 0
DID NOT FINISH 0
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No No K4 B 4 RA B
1 72 30876 fLHE EiFE S SEMRY 27T A" Y AF— AR 41.47 0.00
2 71 32004 KE MEA i AL L JAR 41.96 10.52
3 74 30873 BRI KA E[7) 4t RLJAR 42.92 31.12
4 73 00010 AR BERRR LA BRI BEAF-AR =Y/ DA 45.42 84.77
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No No K4 B 4 RA B
1 83 31332 1L URAA LY S BRI A%~ AR 39.59 0.00
2 82 31173 T &K B BRI AR 40.50 20.46
3 86 31462 IEK  wH z=3ll] BRI BEAF-AR =Y/ DA 42.76 71.26
4 81 30224  BJII & A B[S R #€y” 227SC 48.86 208.39
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TR %L 22(21) 2K — N 10:28
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1 o1 00012 KiL & HE Ty ) A hab=yv)” 40.21 0.00
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No No K4 B 4 RA B
1 107 31207 WNH K IR AL FLJAR 37.08 0.00
2 105 30546 AR F&AKEA Kz SEMRY 2T TN VAR~ DMAER] 39.21 51.12
3104 24107 EgE O fHOE eyl BRI A%~ AR 40.10  72.49
4 103 00014 (Ll L LA AL L JAR 40.16 73.93
5 101 32119 ekt MiARER Rl BRC:hIV eS| 41.48 105.61
6 108 00016 Z5uh  mEAs b7 BRI BEAF-AR =Y/ DA 42.75 136.09
7102 00013 857 EEH 1H5 BRI AR~ D 43.47 153.37
DID NOT START 1
106 00015 H¥ A& AL Fus teamS
DID NOT FINISH 0
DISQUALIFTED 0
Btz mE R [db A ]
27-01-2019 / b REMTTRA X —5 G8/ 1

DATA PROCESSING by SE I KO TIMING by SE T KO



